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Q 1-9: Solve each quadratic using square roots. Write irrational answers in simplified radical form. }d s
1. X-81=0 2. X2+324=0 3. 0=-16x2+120 @;\‘ﬁn
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4, -3(x+2)?=48 5. Exz —4=16 6. 3(x*-3)=207
| (x+2)= -l Yoo »o KEs=4  [3%-2
E x.{.y/ch[-fC 3)):1_:?)0 XZ 12 /+ >
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‘ 7. -2(x+3)*-10=0 8. (2x-3)?=5 9. 3(x-2)2+4=52
-2x43)7=10 5D U8 =D

(x+3)>=—S
X+3 = t(Js
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“ 10-12: Find the value of ¢ that makes each trinomial a perfect square.

2=l AV
x-2 =t H: /

X=214 (-2) )

10. x*-10x+c 11. x*+60x +c -~ 12. x*-3x+c¢ o>
(x-=)> (x+30) (x— 15D
c=25 =400 C=2.25
13-18: Solve each equation by completing the square.
13. x*+6x+8=0 14. x* + 18 = 9x 15. x*-14x+19=0

xtroxr 3 =-g+d x2-AX 1820 Sl Xidx L H9- q +19
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(x+3)> =] 2 ?i‘ﬁ;‘g) > 925 | (% —:]D >= 30
X+% =t - '__qS‘_ Ry ~==
v \Ji‘qé x= 43*’\&@2}) %=1 %530
16. x*+16x—7 = 17. x*+x-6=0 18. x2- 4x 13=
xzﬂtam‘”‘*-"lt_‘:f_ xrx +B= 0+ Y x2- Lhui-l%'*
(x+8)> ="l (X +.5)7=0.25 (x-2)t=

x+O=1%J1 X+ 2.Y x—Z(’*tE)
&=-813) x= -5 2563, % X=21J7

19. ART - The area in square inches of the drawing Foliage by Paul Cezanne is approximated by the equation
y=x2- 40x +396. Complete the square and find the two roots, which are equal to the approximate length

cx—ch L& )
X-20=t 2 —) x=20t2 = 22, 15




